
Subtracting Decimals To Thousandths (A)

Calculate each difference.

3.636 − 3.375 = 9.025 − 5.973 =

8.665 − 3.587 = 7.544 − 3.664 =

6.211 − 2.039 = 9.278 − 2.548 =

5.130 − 5.127 = 9.774 − 3.168 =

6.049 − 1.903 = 5.585 − 3.173 =

2.729 − 1.296 = 4.102 − 2.810 =

6.104 − 4.132 = 8.826 − 2.913 =

3.330 − 2.367 = 9.367 − 3.432 =

5.950 − 1.553 = 9.040 − 7.048 =

6.899 − 1.067 = 5.992 − 2.307 =
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Subtracting Decimals To Thousandths (A) Answers

Calculate each difference.

3.636 − 3.375 = 0.261 9.025 − 5.973 = 3.052

8.665 − 3.587 = 5.078 7.544 − 3.664 = 3.88

6.211 − 2.039 = 4.172 9.278 − 2.548 = 6.73

5.130 − 5.127 = 0.003 9.774 − 3.168 = 6.606

6.049 − 1.903 = 4.146 5.585 − 3.173 = 2.412

2.729 − 1.296 = 1.433 4.102 − 2.810 = 1.292

6.104 − 4.132 = 1.972 8.826 − 2.913 = 5.913

3.330 − 2.367 = 0.963 9.367 − 3.432 = 5.935

5.950 − 1.553 = 4.397 9.040 − 7.048 = 1.992

6.899 − 1.067 = 5.832 5.992 − 2.307 = 3.685
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